INSTRUCTIONS

Thank you for participating in our experiment. The whole experiment will last about 30 minutes. At the end of the
session you will be paid a participation fee of €5. Additionally, you also have the chance of winning €300 that lie on
the experimenter's table. Below you find instructions and the explanation of how you can win additional money.
Please read them carefully and ask if you have any questions. After you have read and understood the instructions,
we will begin.

Questions:

Below you see a list of symbols. Please write a different number in front of each symbol such thatA is in the range
of 1 and 100 and the others are in the range of 1 and 200. Throughout the experiment we will use these numbers
that you chose in the questions.

Before the experiment, we wrote numbers ranging from 1 to 200 on multiple tickets. It might be that some numbers
are written several times or that there are no tickets for some numbers. We randomly put the tickets in several bags,
where each bag is used for only one participant. Your bag lies on the experimenter's table.

In this experiment you will be asked to make a series of decisions. For each decision you will be given two options to
choose from. In particular, you will be asked whether you chose to draw a ticket from the bag and win €300 if the
number on the drawn ticket corresponds to some of the number(s) that you wrote above (Option 1), or to win €300
with some given probabilities (Option 2). The type of questions you will see throughout the experiment is illustrated
in the example below in Figure 1.

SETA
Question Al For each row of tick-boxes, your task is to
make a choice between the two options. For
Which one do you prefer? . . .
- youp - example, selecting the left box in the third row
Option 1 Option 2 . .
in Figure 1 would mean that you prefer
Win €300 with the following ) . .
probability cod drawing a ticket from the bag and winning
ode . .
= o — €300 if the ticket has the same number as you
rr 0.1% R1-2 chose for A to a 0.2% chance of winning
| 0.2% R1-2
= 0.3% R1-4 €300.
| 0.4% R1-5
| 0.5% R1-E
| 0.6% R1-7
= 0.7% R1-2
| .89 -
Win €300 if the ticket drawn 0-8% RS
. i | 0.9% R1-10
from the bag is marked with -
numberA | 1% R1-11
= 1.5% R1-12
| 2% R1-13
| 2.5% R1-14
| 3% R1-15
= 3.5% R1-16
| 1% R1-17
| 4.5% R1-12
| 5% R1-13
= 5.5% R1-20
Figure 1



SETB

Question B1
Which one do you prefer?
Option 1 Option 2
Win €200 with the following Whenever you are asked to make a choice (such
probability code| as “drawing a ticket marked with number A
L 94.5% R1-1 (in Figure 1), you will also be asked to make a
L 2% “2 1 Choice for th that €300 i if th
=1 95.5% s choice for the case tha is won i e
| 96% R14 number on the drawn ticket is “any number but
= 96.5% R1S A,, . . . .
= p— e (Compare Figure 1 to Figure 2). Prizes will
| 97.5% R17 always be fixed to €300.
| 98% R1-8
| 98.5% .
Win €300 if the ticket drawn R
i 3 1 99% R1-10
from the bag is NOT marked with 2
number A A 99.1% R1-11
| 99.2% R1-12
1 99.3% R1-12
e 99.4% R114
A 99.5% R1-15
| 99.6% R1-16
1 99.7% R1-17
1 99.8% R1-12
A 99.9% R1-13
| 100% R1-20

Figure 2

The whole experiment consists of 3 sets of questions A, B, C. Each set consists of 4 to 6 questions where you have
the possibility of winning €300.

Real Play:

Once you answer all the questions, one of your choices might be played for real and you will be paid according to the
outcome of the play. The choice to be played for real is determined by the envelopes that you picked when you
arrived.

The composition of the envelopes in Box1 was as follows:

- 47 envelopes containing a blank ticket that makes you win nothing
-1 envelope containing a ticket for Set A

- 1 envelope containing a ticket for Set B

- 1 envelope containing a ticket for Set C

For example, if the envelope that you picked from Box1 (envelopel) has a ticket for “Set A”, one of your choices
from one of the questions in Set A will be played for real. If the envelope that you picked from Box1 has a blank
ticket, you will not receive anything.

2



In the above figures you see that each choice has a code at the very right column, for example “R1-4”. In Box 2, there
was one envelope for each code. Hence, the envelope that you picked from Box2 (envelope2) will determine which
specific row of the set specified in envelopel is played (if the ticket from envelopel is not blank).

After you answer all the questions, we will open the two envelopes that you picked. For the particular question and
row specified in the envelopes we will check your answer (i.e. whether you ticked Option 1 or Option 2) and play out
the option you chose. For example, imagine you picked an envelope with a ticket for Set A and the row specified in
the other envelope is the one with the code “R1-4” (see Figure 1 below again). If you ticked Option 1, a ticket will be
drawn from the bag and you will win €300 if the ticket is marked with the number that you chose forA, and you will
not get anything otherwise. If you ticked Option 2, you will throw three dice which together generate a number
between 0 and 99.9. You will win €300 if the dice show a number smaller than 0.3. If it is equal to or greater than
0.3, you will not get anything.

SETA
Question Al
Which one do you prefer?
Option 1 Option 2
Win €300 with the following

probability Code

= 0% R1-1

| 0.1% R1-2

[ 0.2% R1-3

[ 0.3% Ria | (—

= 0.4% R15

| 0.5% R1-6

[ 0.6% R1-7

[ 0.7% R1-2

Win €200 if the ticket drawn i 0.8% RS
. i | 0.9% R1-10

from the bag is marked with
number A [ 1% R1-11
[ 1.5% R1-12
= 2% R1-13
| 2.5% R1-14
) 3% R1-15
[ 3.5% R1-16
[ 1% R1-17
| 4.5% R1-18
) 5% R1-13
[ 5.5% R1-20
Figure 1



SETA
Question Al

Which one do you prefer?

Option 1

Option 2

Win €300 if the ticket drawn
from the bag is marked with
number A

Win €300 with the following

probability Code
[ 0% R1-1
[ 0.1% R1-2
[ 0.2% R1-3
[ 0.3% R1-4
o 0.4% R1-5
[ 0.5% R1-E
o 0.6% R1-7
[ 0.7% R1-2
(| 0.8% R1-3
[ 0.9% R1-10
(| 1% R1-11
[ 1.5% R1-12
(I 2% R1-13
[ 2.5% R1-14
(I 3% R1-15
[ 3.5% R1-18
[ 4% R1-17
[ 4.5% R1-18
[ 5% R1-18
[ 5.5% R1-20




SETA
Question A2

Which one do you prefer?

Option 1

Option 2

Win €300 if the ticket drawn
from the bag is marked with

numberygor [J

Win €300 with the following

probability Code
[ 0% R2-1
[ 0.5% R2-2
[ 0.6% R2-3
[ 0.7% R2-4
o 0.8% R2-5
[ 0.9% R2-B
o 1% R2-7
[ 1.1% R2-2
(| 1.2% R2-3
[ 1.3% R2-10
(| 1.4% R2-11
[ 1.5% R2-12
(I 2% R2-13
[ 2.5% R2-14
(I 3% R2-15
[ 3.5% R2-18
[ 4% R2-17
[ 4.5% R2-18
[ 5% R2-18
[ 5.5% R2-20




SETA
Question A3

Which one do you prefer?

Option 1 Option 2
Win €300 with the following
probability Code
[ 0% R3-1
[ 0.5% R3-2
[ 1% R3-3
[ 1.1% R2-4
o 1.2% R3-5
[ 1.3% R3-E
o 1.4% R3-7
[ 1.5% R3-2
Win €300 if the ticket drawn i L.6% =2
) ) [ 1.7% R3-10
from the bag is marked with
number O, Onrl:'l (| 1.8% R3-11
[ 1.9% R3-12
(I 2% R3-13
[ 2.5% R3-14
(I 3% R3-15
[ 3.5% R3-18
[ 4% R3-17
[ 4.5% R3-18
[ 5% R3-18
[ 5.5% R3-20




SETA
Question A4

Which one do you prefer?

Option 1 Option 2
Win €300 with the following
probability Code
[ 0% Réd-1
[ 0.5% R4-2
[ 1% Rd-3
[ 1.5% R4-4
o 1.6% R4-5
[ 1.7% R4-&
o 1.8% R4-7
[ 1.9% R4-2
Win €300 if the ticket drawn T 2% e
) ) [ 2.1% R4-10
from the bag is marked with
number A o Oor Y (| 2.2% R4-11
[ 2.3% Ré-12
(I 2.4% R4-13
[ 2.5% Rd-14
(I 3% R4-15
[ 3.5% R4-18
[ 4% Rd-17
[ 4.5% R4-18
[ 5% Rd-18
[ 5.5% R4-20




SETA
Question A5

Which one do you prefer?

Option 1 Option 2
Win €300 with the following
probability Code
[ 0% R5-1
[ 0.5% RS-2
[ 1% RE5-3
[ 1.5% R5-4
o 2% R5-5
[ 2.1% RG-&
o 2.2% R5-7
[ 2.3% R5-2
Win €300 if the ticket drawn i 2.4% 2
) ) [ [ 2.5% RG-10
from the bag is marked with = > 6% .
number‘ﬁ’,D,0,0Drlﬂ'l | 2.7% RG-12
(I 2.8% R5-13
[ 2.9% R5-14
(I 3% R5-15
[ 3.5% R5-18
[ 4% R5-17
[ 4.5% R5-18
[ 5% RE5-18
[ 5.5% R5-20




SETA
Question A6

Which one do you prefer?

Option 1 Option 2
Win €300 with the following
probability Code
[ 0% RE-1
[ 0.5% RE-2
[ 1% RE-3
[ 1.5% RE-4
o 2% RE-5
[ 2.5% RE-E
o 2.6% RE-7
[ 2.7% RE-2
Win €300 if the ticket drawn |\ 2.8% RiE-3
from the bag is marked with | [ 2.9% RE-10
numberﬂ.*.l:l. O. (| 3% RE-11
$orld [ 3.1% RE-12
(I 3.2% RE-13
[ 3.3% RE-14
(I 3.4% RE-15
[ 3.5% RE-18
[ 4% RE-17
[ 4.5% RE-18
[ 5% RE-18
[ 5.5% RE-20




SETB
Question BE1

Which one do you prefer?

Option 1

Option 2

Win €300 if the ticket drawn
from the bag is NOT marked with
numberﬂ

Win €300 with the following

probability Code
[ 94.5% R1-1
[ 95% R1-2
[ 05.5% R1-3
[ 96% R1-4
o 96.5% R1-5
[ 97% R1-E
o 97.5% R1-7
[ 958% R1-2
(| 93.5% R1-3
[ 99% R1-10
(| 99.1% R1-11
[ 99.2% R1-12
(I 99.3% R1-13
[ 99.4% R1-14
(I 99.5% R1-15
[ 99.6% R1-18
[ 99.7% R1-17
[ 99.3% R1-18
[ 99.9% R1-18
[ 100% R1-20
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SETB
Question B2

Which one do you prefer?

Option 1

Option 2

Win €300 if the ticket drawn
from the bag is NOT marked with

number‘ﬁ’nr |:|

Win €300 with the following

probability Code
[ 94.5% R2-1
[ 95% R2-2
[ 05.5% R2-3
[ 96% R2-4
o 96.5% R2-5
[ 97% R2-B
o 97.5% R2-7
[ 958% R2-2
(| 93.5% R2-3
[ 938.6% R2-10
(| 98.7% R2-11
[ 03.8% R2-12
(I 93.9% R2-13
[ 992 R2-14
(I 99.1% R2-15
[ 99,25 R2-18
[ 99.3% R2-17
[ 99.4% R2-18
[ 99.5% R2-18
[ 100% R2-20
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SETB
Question B3

Which one do you prefer?

Option 1

Option 2

Win €300 if the ticket drawn
from the bag is NOT marked with

number O, 0 Drl:'l

Win €300 with the following

probability Code
[ 94.5% R3-1
[ 95% R3-2
[ 05.5% R3-3
[ 96% R3-4
o 96.5% R3-5
[ 97% R3-E
o 97.5% R3-7
[ 958% R3-2
(| 93.1% R3-3
[ 098.2% R3-10
(| 93.3% R3-11
[ 93.4% R3-12
(I 93.5% R3-13
[ 038.6% R3-14
(I 93.7% R3-15
[ 038.8% R3-18
[ 98.9% R3-17
[ 992 R3-18
[ 99.5% R3-18
[ 100% R3-20
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SETB

Question B4
Which one do you prefer?
Option 1 Option 2
Win €300 with the following

probability Code

[ 94.5% Réd-1

[ 95% Rd-2

[ 05.5% Rd-3

[ 96% R4-4

o 96.5% R4-5

[ 97% R4-E

o 97.5% R4-7

[ 97.6% R4-2

. ) ) (| 97.7% R4-9

Win €300 if the ticket drawn
) | 97.8% R4-10
from the bag is NOT marked with

numberﬂ, 0, Sor Oy [T 97.9% Ré-11
[ 958% Ré-12

(I 98.1% R4-13
[ 98.2% Rd-14

(I 98.3% R4-15
[ 93.4% R4-18

[ 98.5% Rd-17
[ 992 R4-18

[ 99.5% Rd-18
[ 100% R4-20
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SETB
Question BS

Which one do you prefer?

Option 1

Option 2

Win €300 if the ticket drawn
from the bag is NOT marked with

numberﬁ,D, 0,0nrﬂl

Win €300 with the following

probability Code
[ 94.5% R5-1
[ 95% RS-2
[ 05.5% RE5-3
[ 96% R5-4
o 96.5% R5-5
[ 97% RG-&
o 97.1% R5-7
[ 97.2% R5-2
(| 97.3% R5-3
[ 97.4% R5-10
(| 97.5% R5-11
[ 97.6% R5-12
(I 97.7% R5-13
[ 97.8% R5-14
(I 97.9% R5-15
[ 958%% R5-18
[ 98.5% R5-17
[ 992 R5-18
[ 99.5% RE5-18
[ 100% R5-20
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SETB

Question B6
Which one do you prefer?
Option 1 Option 2
Win €300 with the following

probability Code

[ 94.5% RE-1

[ 95% RE-2

[ 05.5% RE-3

[ 96% RE-4

o 96.5% RE-5

[ 96.6% RE-E

o 96.7% RE-7

[ 96.8% RE-2

Win €300 if the ticket drawn |\ 96.9% RE-S
from the bag is NOT marked with || | 97% RE-10
numberﬂ,ﬁ',u O, [ 97.1% RE-11
$ory | 97.2% RE-12

(I 97.3% RE-13
[ 97.4% RE-14

(I 97.5% RE-15
[ 958%% RE-18

[ 98.5% RE-17
[ 992 RE-18

[ 99.5% RE-18
[ 100% RE-20
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SETC
Question C1

Which one do you prefer?

Option 1

Option 2

Win €300 if the ticket drawn
from the bag is marked with
any number between 1 and 100

but NOT number /A

Win €300 with the following

probability Code
[ 25% R1-1
[ 30% R1-2
[ 35% R1-3
[ 40% R1-4
[ 45% R1-5
o 46% R1-6
[ A7% R1-7
o 48% R1-3
[ 48.5% R1-3
(| 49% R1-10
[ 49,1% R1-11
(| 49,2% R1-12
[ 49,3% R1-13
(I 49.4% R1-14
[ 49,55 R1-15
(I 49.6% R1-16
[ 49,7% R1-17
[ 49.8% R1-12
[ 49,984 R1-1%
[ 50% R1-20
[ 50.5% R2-1
[ 51% R2-2
o 52% R2-3
[ 53% R2-4
o 54% R2-5
[ 55% R2-E
(| B60% R2-7
[ 659 R2-2
(| 70% R2-3
[ 75% R2-10
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SETC

Question C2
Which one do you prefer?
Option 1 Option 2
Win €300 with the following
probability Code
[ 2504 R2-11
[ 30% R2-12
[ 350 R2-13
[ A0% R2-14
o 45% R2-15
[ 46% R2-18
o 47% R2-17
[ 48% R2-12
(| 43.5% R2-15
[ 49% R2-20
(| 49.5% R3-1
[ 49.6% R3-2
(I 49.7% R3-3
. . . [ 49,854 R3-4
Win €300 if the ticket drawn
from the bag is marked with i L 49.9% e
[ 50% R3-6
any number between 1 and 100 = c0.1% _
[ 50.2% R3-2
[ 50.3% R3-5
[ 50.4% R3-10
[ 50.5% R3-11
o 51% R3-12
[ 52% R3-13
o 53% R3-14
[ 54% R3-15
(| 55% R3-16
[ 60%% R3-17
(| 65% R3-18
[ 709 R3-189
[ 75% R3-20
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SETC
Question C3

Which one do you prefer?

Option 1

Option 2

Win €300 if the ticket drawn
from the bag is marked with
any number between 101 and 200

Win €300 with the following

probability Code
[ 2504 Réd-1
[ 30% Rd-2
[ 350 Rd-3
[ A0% R4-4
o 45% R4-5
[ 46% R4-E
o 47% R4-7
[ 48% R4-2
(| 43.5% R4-3
[ 49% R4-10
(| 49,5% R4-11
[ 49,6% Ré-12
(I 49, 7% R4-13
[ 49,854 Rd-14
(I 49,9% R4-15
[ 50% R4-18
[ 50.1% Rd-17
[ 50.2% R4-18
[ 50.3% Rd-18
[ 50.4% R4-20
[ 50.5% RS-1
o 51% R5-2
[ 52% RS5-3
o 53% R5-4
[ 54% RE-5
(| 55% R5-6
[ 60%% R5-7
(| 65% R5-8
[ 709 R5-3
[ 75% R5-10
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SETC

Question C4
Which one do you prefer?
Option 1 Option 2
Win €300 with the following
probability Code
[ 2504 R5-11
[ 30% R5-12
[ 350 R5-13
[ [ 40% RG-14
o 45% R5-15
[ 46% RG-18
o 47% R5-17
[ 48% RG-12
(| 49% R5-15
[ 49,5% R5-20
(| 50% RE-1
[ 50.1% RE-2
(I 50.2% RE-3
Win €300 if the ticket drawn (| 50.3% RE-4
from the bag is marked with | 50.4% RE-5
any number between 101 and 200([ || 50.5% RE-E
or number £\ o 50.6% RE-7
[ 50.7% RE-2
[ 50.8% RE-3
[ 50.9% RE-10
[ 51% RE-11
o 51.5% RE-12
[ 52% RE-13
o 53% RE-14
[ 54% RE-15
(| 55% RE-16
[ 60%% RE-17
(| 65% RE-18
[ 709 RE-19
[ 75% RE-20
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INSTRUCTIONS

Thank you for participating in our experiment. The whole experiment will last about 30 minutes. At the end of the
session you will be paid a participation fee of €5. The €300 that lie on your table are yours. However, you may lose
them during the experiment. Below you find instructions and the explanation of how you may lose the €300. Please
read them carefully and ask if you have any questions. After you have read and understood the instructions, we will
begin.

Questions:

Below you see a list of symbols. Please write a different number in front of each symbol such thatA is in the range
of 1 and 100 and the others are in the range of 1 and 200. Throughout the experiment we will use these numbers
that you chose in the questions.

Before the experiment, we wrote numbers ranging from 1 to 200 on multiple tickets. It might be that some numbers
are written several times or that there are no tickets for some numbers. We randomly put the tickets in several bags,
where each bag is used for only one participant. Your bag lies on the experimenter's table.

In this experiment you will be asked to make a series of decisions. For each decision you will be given two options to
choose from. In particular, you will be asked whether you chose to draw a ticket from the bag and lose €300 if the
number on the drawn ticket corresponds to some of the number(s) that you wrote above (Option 1), or to lose €300
with some given probabilities (Option 2). The type of questions you will see throughout the experiment is illustrated
in the example below in Figure 1.

SETA
Question Al For each row of tick-boxes, your task is to
make a choice between the two options. For
Which one do you prefer? example, selecting the left box in the third
Option 1 Option 2 —
S s row in Figure 1 would mean that you prefer
Losemmwzh:‘lem”owmg drawing a ticket from the bag and losing
probability . .
Code €300 if the ticket has the same number as
I~ 0% R11 A o .
il 0.1% 12 you chose for & to a 0.2% chance of losing
I~ 0.2% R1-3 €300.
I~ 0.3% R14
I~ 0.4% R15
I 0.5% R1-6
I 0.6% R1-7
I 0.7% R1-8
| 89 }
Lose €300 if the ticket drawn 0.8% Ris
i ) I 0.9% R1-10
from the bag is marked with .
number /A r - L% R11
I 1.5% R1-12
I 2% R1-13
I 2.5% R1-14
I 3% R1-15
I 3.5% R1-16
I 4% R1-17
4 4.5% R1-18
i 5% R1-19
i 5.5% R1-20

20
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SETB

Question B1
i 2
- Which one do you prefer - Whenever you are asked to make a choice (such
Option 1 Option 2
Lose €300 with the following as “drawing a ticket marked with number A
probability code (in Figure 1), you will also be asked to make a
[ 94.5% i1 choice for the case that €300 is lost if the
L 95% R1-2 number on the drawn ticket is “any number
= 95.5% R1-3
ol [ 96% " but A” (Compare Figure 1 to Figure 2). Losses
Fr 96.5% R1S will always be fixed to €300.
= 97% R1-5
= 97.5% R1-7
= 98% R1-2
Lose €300 if the ticket drawn r- 98.5% AL
i ) = 99% R1-10
from the bag is NOT marked with
numberA = 99.1% R1-11
= 99.2% R1-12
1 99.3% R1-13
= 99.4% R1-14
= 99.5% R1-15
= 99.6% R1-16
1 99.7% R1-17
= 99.8% R1-128
= 99.9% R1-13
= 100% R1-20

The whole experiment consists of 3 sets of questions A, B, C. Each set consists of 4 to 6 questions where you face the
possibility of losing your €300.

Real Play:

Once you answer all the questions, one of your choices might be played for real and you will keep/lose your €300
according to the outcome of the play. The choice to be played for real is determined by the envelopes that you
picked when you arrived.

The composition of the envelopes in Box1 was as follows:

- 47 envelopes containing a blank ticket that makes you lose €300.
-1 envelope containing a ticket for Set A

- 1 envelope containing a ticket for Set B

- 1 envelope containing a ticket for Set C

For example, if the envelope that you picked from Box1 (envelopel) has a ticket for “Set A”, one of your choices
from one of the questions in Set A will be played for real. If the envelope that you picked from Box1 has a blank
ticket, you will lose your €300 for sure.
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In the above figures you see that each choice has a code at the very right column, for example “R1-4”. In Box 2, there
was one envelope for each code. Hence, the envelope that you picked from Box2 (envelope2) will determine which
specific row of the set specified in envelopel is played (if the ticket from envelopel is not blank).

After you answer all the questions, we will open the two envelopes that you picked. For the particular question and
row specified in the envelopes we will check your answer (i.e. whether you ticked Option 1 or Option 2) and play out
the option you chose. For example, imagine you picked an envelope with a ticket for Set A and the row specified in
the other envelope is the one with the code “R1-4” (see Figure 1 below again). If you ticked Option 1, a ticket will be
drawn from the bag and you will lose €300 if the ticket is marked with the number that you chose forA, and you
will keep it otherwise. If you ticked Option 2, you will throw three dice which together generate a number between 0
and 99.9. You will lose €300 if the dice show a number smaller than 0.3. If it is equal to or greater than 0.3, you will
keep your €300.

SETA
Question Al
Which one do you prefer?
Option 1 Option 2
Lose €300 with the following

probability Code

= 0% R1-1

| 0.1% R1-2

[ 0.2% R1-3

[ 0.3% Ria | (—

= 0.4% R15

| 0.5% R1-6

[ 0.6% R1-7

[ 0.7% R1-2

Lose €300 if the ticket drawn N 0-8% RS
) i | 0.9% R1-10

from the bag is marked with p
number A | 1% R1-11
[ 1.5% R1-12
= 2% R1-13
| 2.5% R1-14
) 3% R1-15
[ 3.5% R1-16
[ 1% R1-17
| 4.5% R1-18
) 5% R1-13
[ 5.5% R1-20
Figure 1
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SETA
Question Al

Which one do you prefer?

Option 1

Option 2

Lose €300 if the ticket drawn
from the bag is marked with
number ﬂ

Lose €300 with the following

probability Code
[ 0% R1-1
[ 0.1% R1-2
[ 0.2% R1-3
[ 0.3% R1-4
o 0.4% R1-5
[ 0.5% R1-E
o 0.6% R1-7
[ 0.7% R1-2
(| 0.8% R1-3
[ 0.9% R1-10
(| 1% R1-11
[ 1.5% R1-12
(I 2% R1-13
[ 2.5% R1-14
(I 3% R1-15
[ 3.5% R1-18
[ 4% R1-17
[ 4.5% R1-18
[ 5% R1-18
[ 5.5% R1-20
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SETA
Question A2

Which one do you prefer?

Option 1

Option 2

Lose €300 if the ticket drawn
from the bag is marked with

number ‘ﬁ’ or D

Lose €300 with the following

probability Code
[ 0% R2-1
[ 0.5% R2-2
[ 0.6% R2-3
[ 0.7% R2-4
o 0.8% R2-5
[ 0.9% R2-B
o 1% R2-7
[ 1.1% R2-2
(| 1.2% R2-3
[ 1.3% R2-10
(| 1.4% R2-11
[ 1.5% R2-12
(I 2% R2-13
[ 2.5% R2-14
(I 3% R2-15
[ 3.5% R2-18
[ 4% R2-17
[ 4.5% R2-18
[ 5% R2-18
[ 5.5% R2-20
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SETA
Question A3

Which one do you prefer?

Option 1 Option 2
Lose €300 with the following
probability Code
[ 0% R3-1
[ 0.5% R3-2
[ 1% R3-3
[ 1.1% R2-4
o 1.2% R3-5
[ 1.3% R3-E
o 1.4% R3-7
[ 1.5% R2-2
Lose €300 if the ticket drawn T 1.6% e
) ) [ 1.7% R3-10
from the bag is marked with
number O, <> or ey (| 1.8% R3-11
[ 1.9% R3-12
(I 2% R3-13
[ 2.5% R3-14
(I 3% R3-15
[ 3.5% R3-18
[ 4% R3-17
[ 4.5% R3-18
[ 5% R3-18
[ 5.5% R3-20
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SETA
Question A4

Which one do you prefer?

Option 1 Option 2
Lose €300 with the following
probability Code
[ 0% Réd-1
[ 0.5% R4-2
[ 1% Rd-3
[ 1.5% R4-4
o 1.6% R4-5
[ 1.7% R4-&
o 1.8% R4-7
[ 1.9% R4-2
Lose €300 if the ticket drawn T 2% e
) ) [ 2.1% R4-10
from the bag is marked with
numberﬂ,o O or (| 2.2% R4-11
[ 2.3% Ré-12
(I 2.4% R4-13
[ 2.5% Rd-14
(I 3% R4-15
[ 3.5% R4-18
[ 4% Rd-17
[ 4.5% R4-18
[ 5% Rd-18
[ 5.5% R4-20
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SETA
Question A5

Which one do you prefer?

Option 1 Option 2
Lose €300 with the following

probability Code

[ 0% R5-1

[ 0.5% RS-2

[ 1% RE5-3

[ 1.5% R5-4

o 2% R5-5

[ 2.1% RG-&

o 2.2% R5-7

[ 2.3% R5-2

Lose €300 if the ticket drawn T 2:4% Res
) ) [ [ 2.5% RG-10
from the bag is marked with = > 6% .
number‘ﬁ',D ,O ] $or 1 = > 7% o1
(I 2.8% R5-13
[ 2.9% R5-14
(I 3% R5-15
[ 3.5% R5-18
[ 4% R5-17
[ 4.5% R5-18
[ 5% RE5-18
[ 5.5% R5-20
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SETA
Question A6

Which one do you prefer?

Option 1 Option 2
Lose €300 with the following
probability Code
[ 0% RE-1
[ 0.5% RE-2
[ 1% RE-3
[ 1.5% RE-4
o 2% RE-5
[ 2.5% RE-E
o 2.6% RE-7
[ 2.7% RE-2
Lose €300 if the ticket drawn | | 2.8% RiE-3
from the bag is marked with | [ 2.9% RE-10
numberA, 3¢, .0, | 3% RE-11
& orl3) [ 3.1% RE-12
(I 3.2% RE-13
[ 3.3% RE-14
(I 3.4% RE-15
[ 3.5% RE-18
[ 4% RE-17
[ 4.5% RE-18
[ 5% RE-18
[ 5.5% RE-20
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SETB
Question BE1

Which one do you prefer?

Option 1

Option 2

Lose €300 if the ticket drawn
from the bag is NOT marked with
number ﬂ

Lose €300 with the following

probability Code
[ 94.5% R1-1
[ 95% R1-2
[ 05.5% R1-3
[ 96% R1-4
o 96.5% R1-5
[ 97% R1-E
o 97.5% R1-7
[ 958% R1-2
(| 93.5% R1-3
[ 99% R1-10
(| 99.1% R1-11
[ 99.2% R1-12
(I 99.3% R1-13
[ 99.4% R1-14
(I 99.5% R1-15
[ 99.6% R1-18
[ 99.7% R1-17
[ 99.3% R1-18
[ 99.9% R1-18
[ 100% R1-20
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SETB
Question B2

Which one do you prefer?

Option 1

Option 2

Lose €300 if the ticket drawn
from the bag is NOT marked with

number‘ﬁ’nr |:|

Lose €300 with the following

probability Code
[ 94.5% R2-1
[ 95% R2-2
[ 05.5% R2-3
[ 96% R2-4
o 96.5% R2-5
[ 97% R2-B
o 97.5% R2-7
[ 958% R2-2
(| 93.5% R2-3
[ 938.6% R2-10
(| 98.7% R2-11
[ 03.8% R2-12
(I 93.9% R2-13
[ 992 R2-14
(I 99.1% R2-15
[ 99,25 R2-18
[ 99.3% R2-17
[ 99.4% R2-18
[ 99.5% R2-18
[ 100% R2-20
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SETB
Question B3

Which one do you prefer?

Option 1

Option 2

Lose €300 if the ticket drawn
from the bag is NOT marked with

number O , <:'?[:rr l:l

Lose €300 with the following

probability Code
[ 94.5% R3-1
[ 95% R3-2
[ 05.5% R3-3
[ 96% R3-4
o 96.5% R3-5
[ 97% R3-E
o 97.5% R3-7
[ 958% R3-2
(| 93.1% R3-3
[ 098.2% R3-10
(| 93.3% R3-11
[ 93.4% R3-12
(I 93.5% R3-13
[ 038.6% R3-14
(I 93.7% R3-15
[ 038.8% R3-18
[ 98.9% R3-17
[ 992 R3-18
[ 99.5% R3-18
[ 100% R3-20
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SETB

Question B4
Which one do you prefer?
Option 1 Option 2
Lose €300 with the following

probability Code

[ 94.5% Réd-1

[ 95% R4-2

[ 05.5% Rd-3

[ 96% R4-4

o 96.5% R4-5

[ 97% R4-&

o 97.5% R4-7

[ 97.6% R4-2

Lose €300 if the ticket drawn T 97.7% e
) ) [ 97.8% R4-10

from the bag is NOT marked with

numberﬂ,o Oor o [T 97.9% Ré-11
[ 958% Ré-12
(I 98.1% R4-13
[ 98.2% Rd-14
(I 98.3% R4-15
[ 93.4% R4-18
[ 98.5% Rd-17
[ 992 R4-18
[ 99.5% Rd-18
[ 100% R4-20
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SETB
Question BS

Which one do you prefer?

Option 1

Option 2

Lose €300 if the ticket drawn
from the bag is NOT marked with

number‘ﬁ’, . 0,0DFG

Lose €300 with the following

probability Code
[ 94.5% R5-1
[ 95% RS-2
[ 05.5% RE5-3
[ 96% R5-4
o 96.5% R5-5
[ 97% RG-&
o 97.1% R5-7
[ 97.2% R5-2
(| 97.3% R5-3
[ 97.4% R5-10
(| 97.5% R5-11
[ 97.6% R5-12
(I 97.7% R5-13
[ 97.8% R5-14
(I 97.9% R5-15
[ 958%% R5-18
[ 98.5% R5-17
[ 992 R5-18
[ 99.5% RE5-18
[ 100% R5-20
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SETB

Question B6
Which one do you prefer?
Option 1 Option 2
Lose €300 with the following
probability Code
[ 94.5% RE-1
[ 95% RE-2
[ 05.5% RE-3
[ 96% RE-4
o 96.5% RE-5
[ 96.6% RE-E
o 96.7% RE-7
[ 96.8% RE-2
Lose €300 if the ticket drawn from | I 96.9% RE-3
the bag is NOT marked with o 97% RE-10
numberﬂ,‘ﬁ’,l:l,o, [ 97.1% RE-11
{ or (e [ 97.2% RE-12
(I 97.3% RE-13
[ 97.4% RE-14
(I 97.5% RE-15
[ 958%% RE-18
[ 98.5% RE-17
[ 992 RE-18
[ 99.5% RE-18
[ 100% RE-20
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SETC
Question C1

Which one do you prefer?

Option 1

Option 2

Lose €300 if the ticket drawn
from the bag is marked with
any number between 1 and 100

but NOT number £\

Lose €300 with the following

probability Code
[ 2504 R1-1
[ 30% R1-2
[ 350 R1-3
[ A0% R1-4
o 45% R1-5
[ 46% R1-E
o 47% R1-7
[ 48% R1-2
(| 43.5% R1-3
[ 49% R1-10
(| 49,1% R1-11
[ 49,25 R1-12
(I 49,3% R1-13
[ 49.4% R1-14
(I 49.5% R1-15
[ 49,6% R1-18
[ 49, 7% R1-17
[ 49,85 R1-18
[ 49,9% R1-18
[ 50% R1-20
[ 50.5% R2-1
o 51% R2-2
[ 52% R2-3
o 53% R2-4
[ 54% R2-5
(| 55% R2-6
[ 60%% R2-7
(| 65% RZ-8
[ 709 R2-9
[ 75% R2-10
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SETC

Question C2
Which one do you prefer?
Option 1 Option 2
Lose €300 with the following
probability Code
[ 2504 R2-11
[ 30% R2-12
[ 350 R2-13
[ A0% R2-14
o 45% R2-15
[ 46% R2-18
o 47% R2-17
[ 48% R2-12
(| 43,5% R2-15
[ 49% R2-20
(| 49.5% R3-1
[ 49.6% R3-2
(I 49.7% R3-3
. . [ 49,854 R3-4
Lose €300 if the ticket drawn
from the bag is marked with i L 49.9% e
[ 50% R3-6
any number between 1 and 100 = c0.1% _
[ 50.2% R3-2
[ 50.3% R3-5
[ 50.4% R3-10
[ 50.5% R3-11
o 51% R3-12
[ 52% R3-13
o 53% R3-14
[ 54% R3-15
(| 55% R3-16
[ 60%% R3-17
(| 65% R3-18
[ 709 R3-189
[ 75% R3-20
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Question C3

Which one do you prefer?

Option 1

Option 2

Lose €300 if the ticket drawn
from the bag is marked with
any number between 101 and 200

Lose €300 with the following

probability Code
[ 2504 Réd-1
[ 30% Rd-2
[ 350 Rd-3
[ A0% R4-4
o 45% R4-5
[ 46% R4-E
o 47% R4-7
[ 48% R4-2
[T 43,5% R4-5
[ 49% R4-10
(| 49,5% R4-11
[ 49,6% Ré-12
(I 49, 7% R4-13
[ 49,854 Rd-14
(I 49,9% R4-15
[ 50% R4-18
[ 50.1% Rd-17
[ 50.2% R4-18
[ 50.3% Rd-18
[ 50.4% R4-20
[ 50.5% RS-1
o 51% R5-2
[ 52% RS5-3
o 53% R5-4
[ 54% RE-5
(| 55% R5-6
[ 60%% R5-7
(| 65% R5-8
[ 709 R5-3
[ 75% R5-10

37




SETC

Question C4
Which one do you prefer?
Option 1 Option 2
Lose €300 with the following
probability Code
[ 2504 R5-11
[ 30% R5-12
[ 350 R5-13
[ [ 40% RG-14
o 45% R5-15
[ 46% RG-18
o 47% R5-17
[ 48% RG-12
(| 49% R5-15
[ 49,5% R5-20
(| 50% RE-1
[ 50.1% RE-2
(I 50.2% RE-3
Lose €300 if the ticket drawn (| 50.3% RE-4
from the bag is marked with | 50.4% RE-5
any number between 101 and 200([ || 50.5% RE-E
or number A o 50.6% RE-7
[ 50.7% RE-2
[ 50.8% RE-3
[ 50.9% RE-10
[ 51% RE-11
o 51.5% RE-12
[ 52% RE-13
o 53% RE-14
[ 54% RE-15
(| 55% RE-16
[ 60%% RE-17
(| 65% RE-18
[ 709 RE-19
[ 75% RE-20
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